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 Balance these reactions using whole number coefficients:    
 
 
__1__ Sn +     __2__ NaOH  → __1__Na2SnO2 + __1__H2 
 
 
 
 
_8___Al  + __3__Fe3O4 → __4__Al2O3 + __9__Fe 
 
 
 
 
__2__CH3OH + __3__O2 → __2__CO2 + __4__ H2O 
 
 
 
 
__1__PCl5 +  __4__H2O →  __1__H3PO4 + __5__HCl 
 
 
 
 
__1__Cl2O7 + __1__H2O → __2__ HClO4 
 
 
 
 
__1__MnO2 +  __4__HCl →  __1__MnCl2 + __1__Cl2 + _2___H2O 
 
 
 
 
__2__Na2S2O3 + __1__I2 → __2__NaI  +  __1__Na2S4O6 
 
 
 
 
__3__NO2 + __1__H2O → __2__HNO3 + __1__NO 
 
 
 
 
__1__SbCl5 +  __1__H2O →   __1__SbOCl3 +  __2__HCl 
 
 



 
 
__2__Mg  +  __1__SiO2 → __2__MgO + __1__Si 
 
 
 
 
__1__CaCl2 +  __1__Na2CO3 →  __1__CaCO3 +   __2__NaCl 
 
 
 
 
__2__C6H6 +  __15__O2 →  __12__CO2 +  __6__H2O 
 
 


